

## Multiply by $10^{-3}$ (I)

Find each product.

$$9.23 \times 10^{-3} =$$

$$7.1302 \times 10^{-3} =$$

$$7.73 \times 10^{-3} =$$

$$6.93 \times 10^{-3} =$$

$$7.84 \times 10^{-3} =$$

$$9.7 \times 10^{-3} =$$

$$7 \times 10^{-3} =$$

$$1.57 \times 10^{-3} =$$

$$2.5025 \times 10^{-3} =$$

$$4.9188 \times 10^{-3} =$$

$$7.9 \times 10^{-3} =$$

$$8 \times 10^{-3} =$$

$$7.4526 \times 10^{-3} =$$

$$8.4861 \times 10^{-3} =$$

$$0.1 \times 10^{-3} =$$

$$4.3545 \times 10^{-3} =$$

$$3.93 \times 10^{-3} =$$

$$8.04 \times 10^{-3} =$$

$$0.15 \times 10^{-3} =$$

$$3.6075 \times 10^{-3} =$$